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Circles. Form A 

1. In the standard (𝑥, 𝑦) coordinate plane, what is the radius and center of the circle 
(𝑥 − 5)ଶ + (𝑦 + 4)ଶ = 9 

(A) Center: (-5,4) Radius 9 
(B) Center: (5,-4) Radius 9 
(C) Center: (-5,4) Radius 3 
(D) Center: (5,-4) Radius 3 
(E) Center: (-5,4) Radius 81 

2. In the standard (𝑥, 𝑦) coordinate plane, what is the radius and center of the circle 
(𝑥 + 5)ଶ + (𝑦 + 4)ଶ = 27 

(A) Center: (5,4) Radius 3√3 
(B) Center: (5,-4) Radius 27 
(C) Center: (-5,-4) Radius 27 

(D) Center: (-5,-4) Radius 3√3 

(E) Center: (-5,4) Radius 3√3 

3. Find the equation of circle with center coordinates of (2,4) and a radius of 3. 

(A) (𝑥 − 2)ଶ + (𝑦 − 4)ଶ = 3 
(B) ) (𝑥 − 2)ଶ + (𝑦 − 4)ଶ = 9 
(C)  (𝑥 + 2)ଶ + (𝑦 + 4)ଶ = 9 

(D)  (𝑥 + 2)ଶ + (𝑦 + 4)ଶ = √3 

(E)  (𝑥 − 2)ଶ + (𝑦 − 4)ଶ = √3 
 

4. A circle in the standard coordinate plane is tangent to the x-axis at (4,0) and tangent to 
the y-axis at (0,4). What is the equation of the circle? 

(A) (𝑥 − 4)ଶ + (𝑦 − 4)ଶ = 4 
(B) (𝑥 + 4)ଶ + (𝑦 + 4)ଶ = 16 
(C) (𝑥 − 4)ଶ + (𝑦 − 4)ଶ = 16 

(D) (𝑥 − 4)ଶ + (𝑦 − 4)ଶ = √8 
(E) (𝑥)ଶ + (𝑦)ଶ = 16 

5. On the 𝑥𝑦 plane, what is the area of a circle with the following equation:  

(𝑥 + 2)ଶ + (𝑦 − 3)ଶ = 25 
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(A) 25𝜋 
(B) 5𝜋 
(C) 4𝜋 
(D) 3𝜋 

(E) √8𝜋 

 

 

6. If the center of a circle is at (2, −4) and the diameter of the circle is 6, what is the 
equation of that circle? 

(A) (𝑥 + 2)ଶ + (𝑦 − 4)ଶ = √6 
(B) (𝑥 + 2)ଶ + (𝑦 + 4)ଶ = 36 
(C) (𝑥 − 2)ଶ + (𝑦 + 4)ଶ = 3 
(D) (𝑥 − 2)ଶ + (𝑦 + 4)ଶ = 9 
(E) (𝑥 + 2)ଶ + (𝑦 − 4)ଶ = 9 

7. Circle A is given by the equation (𝑥 − 4)ଶ + (𝑦 + 3)ଶ = 36. Circle A is shifted up five units 
and left by six units. What is the new equation for circle A? 

(A) (𝑥 + 2)ଶ + (𝑦 − 2)ଶ = 6. 
(B) (𝑥 − 9)ଶ + (𝑦 + 9)ଶ = 36. 
(C) (𝑥 − 10)ଶ + (𝑦 + 8)ଶ = 36. 
(D) (𝑥 − 9)ଶ + (𝑦 + 9)ଶ = 6 
(E) (𝑥 + 2)ଶ + (𝑦 − 2)ଶ = 36. 

8. Which of the following equations describes all the points (𝑥, 𝑦) in a coordinate plane that 
are five units away from the point (-3,6)? 

(A) (𝑥 − 3)ଶ + (𝑦 + 6)ଶ = 5 
(B) (𝑥 + 3)ଶ + (𝑦 − 6)ଶ = 5 
(C) (𝑥 + 3)ଶ + (𝑦 − 6)ଶ = 25 
(D) (𝑥 + 3)ଶ − (𝑦 − 6)ଶ = 25 
(E) (𝑥 − 3)ଶ + (𝑦 − 6)ଶ = 5 

9. In the standard (𝑥, 𝑦) coordinate plane below, the vertices of the square have 
coordinates (0,0), (6,0), (6,6), (0,6). Which of the following is an equation of the circle that is 
inscribed in the square? 

 

(A) (𝑥 − 3)ଶ + (𝑦 − 3)ଶ = 9 
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(B) (𝑥 − 3)ଶ + (𝑦 − 3)ଶ = 3 
(C) (𝑥 + 3)ଶ + (𝑦 + 3)ଶ = 9 
(D) (𝑥 − 3)ଶ + (𝑦 − 3)ଶ = 6 
(E) (𝑥 + 3)ଶ + (𝑦 + 3)ଶ = 9 

 

 

 

 

 

10. A square is circumscribed about a circle of 7-foot radius as shown below. What is the 
area of the square, in square feet? 

 

(A) 49 
(B) 56 
(C) 98 
(D) 49𝜋 
(E) 196 
 

11. A 6-inch-by-8-inch rectangle is inscribed in a circle as shown below. What is the area of 
the circle, in square inches? 

 

(A) 5𝜋 
(B) 16𝜋 
(C) 25𝜋 
(D) 48𝜋 
(E) 96𝜋 
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12. What is the area of the square inside the circle with radius 2 cm? 

 

(A) 16 

(B) 8 
(C) 4 
(D) 8𝜋 
(E) 2 

13. The circle in the figure below has a radius of 3 centimeters. What is the length, in 
centimeters, of the arc intercepted by the central angle of 45º? 

 

(A) ସ
ଷ

𝜋 

(B) ଵ
ଷ

𝜋 

(C) ଷ
ସ

𝜋 

(D) 𝜋 

(E) ଵ
ସ

𝜋 

 

14. Points A and B lie on the circle below, where central angle ∠𝐴𝐶𝐵 measure 100º. What is 
the measure of ∠𝐴𝐵𝐶? 

 

(A) 40º 
(B) 35º 
(C) 50º 
(D) 55º 
(E) 45º 

 
 
 
 

15. In the circle shown below, chords 𝑇𝑅 and  𝑄𝑆 intersect at P, which is the center of the 
circle, and the measure of ∠𝑃𝑆𝑇 is 30º. What is the degree measure of minor arc 𝑅𝑆෢ ? 
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(A) 30º 
(B) 45º 
(C) 60º 
(D) 90º 
(E) 70º 

 

 

16. A chord 24 inches long is 5 inches from the center of a circle, as shown below. What is 
the radius of the circle, to the nearest tenth of an inch? 

 

(A) 29.0 
(B) 24.5 
(C) 16.9 
(D) 13.0 
(E) 10.9 

 

 

 

17. The figure below shows 2 tangent circles such that the10 centimeter diameter of the 
smaller circle is equal to the radius of the larger circle. What is the area, in square 
centimeters, of the shaded region? 

 

(A) 10 
(B) 75 
(C) 5𝜋 
(D) 10𝜋 
(E) 75𝜋 
 
 

18. A circle with radius 10 centimeters is divided into three congruent arcs. What is the 
length, in centimeters, of each of the 3 arcs? 
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(A) 
ଵ଴గ

ଷ
 

(B) 
ଶ଴గ

ଷ
 

(C) 
ସ଴గ

ଷ
 

(D) 10𝜋 
(E) 20𝜋 

19. In the standard  (𝑥, 𝑦) coordinate plane, what is the radius and center of the circle 
shown below with center at C? 

 

(A) (𝑥 − 3)ଶ + (𝑦 − 5)ଶ = 9 
(B) (𝑥 − 6)ଶ + (𝑦 − 5)ଶ = 3 
(C) (𝑥 + 6)ଶ + (𝑦 − 5)ଶ = 9 
(D) (𝑥 − 3)ଶ + (𝑦 − 3)ଶ = 6 
(E) (𝑥 + 6)ଶ + (𝑦 − 5)ଶ = 3 

20. In the circle shown below, chord 𝐷𝐹 is parallel to the diameter  𝐴𝐶. The length of 𝐷𝐹,is 

20 centimeters and the length of  𝐴𝐶 is 28 centimeters. What is the distance, in 

centimeters, from B, the center of the circle, to E, the midpoint of 𝐷𝐹.  
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(A) √44 

(B) √96 

(C) √20 
(D) 8 
(E) 10 
 
 
 

21. In the figure below, P and Q lie on the circle R, which has a radius of 9. If the angle PRQ 
is 120º, what is the area of sector PRQ? 

 

(A) 343𝜋 
(B) 81𝜋 
(C) 3𝜋 
(D) 9𝜋 
(E) 27𝜋 
 
 
 
 

22. The figure below shows the diameter of a circle defined by the two end points (-6,0) and 
(0,0) in the standard (𝑥, 𝑦) coordinate plane.  What is the equation of the circle? 

 
(A) (𝑥 + 6)ଶ + (𝑦 − 6)ଶ = 9. 
(B) (𝑥 + 6)ଶ + 𝑦ଶ = 9 
(C) 𝑥ଶ + (𝑦 − 6)ଶ = 6. 
(D) (𝑥 + 3)ଶ + 𝑦ଶ = 9 
(E) (𝑥 − 3)ଶ + 𝑦ଶ = 9. 

 

 

23. The circle shown below has a radius of 5 meters, and the length of chord XY is 8 meters. 
If C marks the center of the circle, what is the length, in meters, of segment CZ? 
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(A) 2√3 
(B) 3 

(C) √13 
(D) 5 
(E) 9 

 

 

Answers 

1. D        11. C     21. E 
2. D        12. B     22. D 
3. B        13. C     23. B 
4. C        14. A 
5. A         15. C 
6. D        16. D 
7. E        17. E 
8. C        18. B 
9. A        19. C 
10. E       20. B 


